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H=800 A (FEFLA IARM) 104w ;

B BEEE IR 1 %N
H=650 AT (AL IARM) 104w ;
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H=400 AT (AL IARM) 104w ;

PRANASE LA 1H 1 H
BREEC £%89.1 HEE & 3.5m FHUAEEN A v %
+ErEnRERE (B6)  #h S 28T
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B3 A S i 1 X
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B2 A couE
CEUEVZAR 100 m2
(t=10cm)
18-8-25 (20) (®JF) av))-MEEIEHE
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S-SR
TN SRR G = (RNYS)) 10 km
2. Om3K:Ti /km BER B/ 720
T (R A D) 0. km
2. 0m3LA 1-6. Om3AYili/km EEIR H: 3 ;
T (R A D) 0. km
6. 0m3LL F/km BBIEREZ\ ;
iR RE - A7) 500 m2
0. 3m3ATi5/100m2 Al B A2
iR (RE - A7) 500 m2

0.3m3LL 1. Om3ATi/100m2 H33E  EEIR B
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Al (EOME)  EBRES
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0. 01m3AH/100m2 FRWTASEAE « Hh ™l BRI
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T EREE

B E R (B - T E - A D) 500 m2
0.03m3L4_F/100m2 RAWIA-EAE « Ml BERR
B%\

& T T (P Bl - ) 500 m2
0. 05m3AT/100m2 FP sy Bty EERR B IE ;

& T T (P Bl - ) 500 m2
0.05m3Lk F/100m2 HRSLoypfEly EEIRESZ W

Bk s L =X 207, 161 | fUI&EIER (A 50 m

M

BFEER (A TD) 50 m
A& av))-1#

BFEER (A TD) 50 m
HE HE® VA) ;

WHE 5 &30
AJ) M FRA HVE 25emRi ;

WHE 5 &30
AN = FRA +E 25embl Lk

WHE 5 &30
AN B#E FhA HE 25emKiil ;

WHE 5 &30
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IR RALEE T = 1 3, 255, 332
S BSLERVEZE T =X 1 3,255,332 | HHE 1 =
Hehl 1 X
Mkt 1 X
B3 A S i 1 X
SNSRI E: 1 4,224,772
51 S R L T = 1 1,926,255 | %58 ! =
Hehli 1 X
Mk 1 X
L I T =S 1 2,271,000 | 55Hste ! =
Hehl 1 X
Mk 1 X
AR AL T 2 1 20,952 |#EYI 5 m3
THp EFELASR OB /INBUSE (I HE)
b =X
+wp CEHR - ERIRY LET) ;
i =
B2 A couE
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FeRgiifE X 1 417,200 | FREgflfE 2 X
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LR ¢ 0. t
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% T = 3, 669, 500
B EHT 2 1,467,750 |Zi@EFE G S 1 =
B EHT 2 2,201, 750 |AS@IFHEEEE 1 =
B SRS = 27, 493, 442
A EY IS L 2 1, 690, 925
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vy )= hik (BEAR)
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/)Y - hik (AT
RISy 3 m3
/) -hik Bk
i 1 X
+4)
HEL 1 2V
+4)
T wb AT 1 X
0 Cabl- EHIRY £5Te) ;
e 1 =
B2 A couE
T AR 100 m2
BTy r77 RC-40 A VW E 100mm ;
3] 100 m2
FAEERLET AT, (13) 4H%E)E 40mm 1. 4mAy
(184 v S v JE50mmEd T)
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TR VAR LFE ;
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TAT 7V
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HAREE Z LR (40) £ EYE 100mm ;
) 200 m2
AR EET 22y (20) &H%EE 50mm 1. 4mPA 13
.OmEAF
3] 200 m2
FASRIEET 22y (20) HH%EE 50mm 1. 4mPA 13
.OmPA T
EEITHA A T = 2,336,640 | &LE RO 1 =
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S IR (20 E 1) 200 m2
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